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The essential feature of language is that it is used in communication, and some scholars argue that

language can operate in communication without context. They say that language is a matter of logic and
a correct use of language presupposes’ the use of logic. Logic is a self-defined system that can be
proved completely and objectively. According to this view, sentences can be used unambiguously and
few errors would occur in communication. Thus, a sentence can work well for communication without its

context. This claim is based upon the belief that language is a logical system that consists of vocabulary

and sentence—forming rules.
— Adapted from Jacob Mey, Pragmatics -
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Distortion of the message can take place during the communication process unless appropriate discourse’

context is provided. In this sense, language cannot work for communication without considering the

context. We may often hear someone use a quotation — for example, in defense of a political opinion or
a religious viewpoint — only to hear someone else counter, “But that’s not really what he (the original
speaker) meant! You've taken it completely out of context!” We also become frustrated when something
we have said is taken out of context, feeling as though we have been misquoted. We know intrinsically”
that to ignore the original context of an utterance’ can misrepresent the speaker’s intentions.
Experiences like these tell us that context can affect an utterance’s meaning. Therefore, it is important
to investigate the relationship between context and meaning.

— Bergmann et al., Language Files —
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